
                           
 
 
 
 

 

RAINBOW INTERNATIONAL SCHOOL 
 

SUMMER HOLIDAY HOMEWORK   

                                                  (2024-25) 
ENGLISH 

I. Make sentence:- 

a) Beauty- 

b) Wondered- 

c) Semester- 

d) Hated- 

e) Fragrant- 
f) Boring- 

g) Seasons- 

h) Problem- 

i) Mystery- 

j) Cheerful- 

II. Learn the word meanings of ch-1 & 2. 

III. Answer the following questions:- 

a) What did Tom hate the most? 

b) What was his opinion regarding homework? 

c) What did Tom like to do instead of his homework? 
d) What is Nintendo? 

e) What did he find his cat doing? 

f) Why was Tom surprised? 

g) What did the tiniest man promise Tom? 
h) What was the wish of Tom? 

i) Was the little man happy with the task given by Tom? 
j) What was the attire of the little  

      IV. Complete the poem:- 

a. The leaves are ______________________________________, 

b. A shower sprinkles softly down; _______________________________________ 

c. The birds are gone, the world is white,________________________________ 

d. The winds are wild, they chill and bite;________________________________ 

e. The ground is ____________________________________________________________ 

f. And I _____________________________________________________________________ 

     V. Correct the spellings:- 

a. LYREAB- 

b. TNARGARF- 



 

c. KTSUC- 

d. DGNRUO- 

e. ENIHSNUS- 

      VI. Write one word for each group of words:- 

a. Partly melted falling snow- _____________________________________ 

b. A plant with three round leaves on each stem- _______________________________ 

c. To burn very strongly, brightly lit ____________________________________________ 

d. Sleeping for a little while ______________________________________________ 

e. That has a pleasant smell ______________________________________________ 

GRAMMAR 
 
Pick out the subject and predicate from the given sentences and list them in the 

space below: 

1. Mahesh donated some books to the public library. 
2. Ruskin bond writes stories for children. 
3. Kumar bought a pair of new shoes. 
4. Arun is sitting on the garden bench. 
5. Leela is fond of flowers. 
6. Kabir spent six weeks in Canada. 
7. Mary had a little puppy. 
8. The balloon flew in the sky. 

9. My mother can speak French. 

10. Ice is made from water. 

11. Pallavi is cooking dinner. 

12. Sharad completed his homework. 

13. The dog buried the bone in the garden. 

14. Suresh lives in Mumbai. 

15. The sun sets in the west. 
 

 Subject Predicate 
1)   

2)   

3)   

4)   

5)   

6)   

7)   

8)   

9)   

10)   

11)   

12)   

13)   

14)   

15)   

 



 
 
 

Match the subjects in column A with predicates in column B to make a complete 

sentence: 
 

Column A Column B 
(1 ) Trees (a) Croaked in the pond. 
(2) Our teachers (b) Has gone to milk the cows. 
(3) Manav and Ryan (c) Killed the lamb. 
(4) The frog (d) Are sitting in the staff room. 
(5) My umbrella (e) Was a wise man. 
(6) Henry (f) Has a black handle. 
(7) The wolf (g) Is the capital of India. 
(8) The computer (h) Prevent soil erosion. 
(9) Delhi (i) Helps in doing work quickly. 
(10) Birbal (j) Are good dancers. 

 

Add question tags to the given statements. Insert appropriate punctuation: 

1) They have been to Russia    

2) He shouldn’t drive so fast    
3) The breakfast is not ready    

4) Lavender is her favourite fragrance    
5) We ought to reach the hall before eight    

6) They are not learning Sanskrit    

7) I am not as strong as you are    

8) This sum can’t be solved easily    

9) Gehna can’t speak Spanish    

10)You must stay    

 

Science 
 
 
(a) Name the followings and fill in the blanks 
 
1. Two Plants that Reproduce by stem cuttings 
 
2, Two Plants that Reproduce by roots. 
 
3, Two Plants that reproduce by leaves. 
 
4. Roots and Stems are not only store food but also reproduce new plants. They are known as 
_________. 
 
5, The bulb shape underground stem is known as ____________ 
 
6. The Process by which new plants are grown from the parent’s plant is called __________ 
 
 



 
7. Ginger also grows from the ___________ on the ginger stem. 
 
(b) Write the differences between Runner and Sucker 
 
 
(c) Plants generally reproduce through seeds.  Write the different steps involve in reproduction of 
new plant, 
 
(d) Paste a flower on your holiday home work copy and label the different parts of the flower 
 
(e) Paste one runner and one sucker plant in your note book. 
 

 

                                                                SOCIAL SCIENCE 

1. State True or False. 

a.Each parallel of latitude is a semi-circle . 

b.Temperature increases as we go away from Equator. 

c. Torrid zone lies between Tropic Of Cancer and Tropic Of Capricorn. 

d. Earth rotates from West to East direction. 

e. The imaginary line around which Earth spins is called its axis. 

 

2. Draw the latitudes and longitudes on Earth’s surface. 

 

3. Write three differences between latitude and longitude. 

4.  

5. What is grid? 

 

6. Write five differences between map and globe. 

 

7. What are the types of map? Explain about them. 

 

8. Paste one physical map and one political map of India and mark the following n it- 

 

On political map mark all capital cities of different states of India. 

On physical map mark     a. Mahanadi river  b. Ganga river 

             c. Himalayas  d. Thar Desert  
 

HINDI 
 

1.निम्िनिनित अपनित गद्यांश को पढ़कर िीचे निए गए प्रश्नों के उत्तर निनिए:- 
पेडों कय महत्व 

पेड़ हम सभीके लिए बहुत जरूरी हैं। पेड़़ों के कारण ही हमारी यह धरती हरी-भरी ह।ै पेड़़ों के कारही हमारी इस 

 



 

 पथृ्वी पर पश-ुपक्षी और कीडे़-मकोडे़ जीलवत रहते हैं। हम सभी लजस ऑक्सीजन के कारण जीलवत हैं वह 
ऑक्सीजन हमें पेड़़ों से ही लमिती ह।ै मनषु्य बहुत समय पहिे से ही पेड़़ों से लमिने वािी िकलड़य़ों से आग 
जिाता था और उससे अपना भोजन बनाता था। पेड़़ों की िकलड़य़ों से ही िोग अपने घर और फनीचर बनाते 

हैं। पेड़़ों से हमें फि लमिते हैं, सुुंदर-सुुंदर फूि लमिते हैं, पेड़़ों से हमें मसाि ेलमिते हैं। कुछ पेड़़ों के फि, 
पलिय़ों और जड़़ों से बहुत सी दवाइयााँ बनती हैं। इस तरह पेड़ हमारे लमत्र हैं जो हमारे काम में आते हैं। पेड़ 

प्रकृलत की सहायता करते हैं क्य़ोंलक जहााँ पेड़ होते हैं वहााँ बादि आते हैं बाररश होती ह,ै पक्षी और जानवऱों को 
भी रहने की जगह लमिती ह।ै बहुत दखु की बात ह ैलक हम िोग़ों ने इतन ेज्यादा पेड़़ों को काट लदया ह ैलक 
हमारी धरतीपर ऑक्सीजन की कमी हो गई ह।ै हम सभी को अलधक से अलधक पेड़ िगाने चालहए तालक हमारा 

और पश-ुपलक्षय़ों का जीवन सरुलक्षत रह।े  
प्रश्न  

(क) पेड़़ों के कारण क्या-क्या होता ह?ै 

(ख) पेड़ की िकलड़य़ों का उपयोग लकस-लकस काम में लकया जाता ह?ै 

(ग) पेड़़ों से हमें और क्या-क्या लमिता ह?ै 

(घ) पेड़ प्रकृलत की सहायता कैसे करते हैं? 

(ड.) आपको क्या िगता ह ैलक हमें पेड़ क्य़ों िगाने चालहएाँ? 

 
2. कनवतय की पांनिययाँ पूरी करो:- 

अगर न ------पड़ा ---------करवा शीश ---------नहीं --------लहमािय! 

खड़ा लहमािय -------- में, खडे़ रहो --------सब -----तफूानी में  

 
3.प्रत्यय जोडकर िए शब्ि बियओ - 

कपडे+ ----- 

चश्मे +------ 

4.पययायवयची शब्ि नििो -(िो- िो ) 
नभ  
पववत  
अमतृ  

कमि  

लकनारा  
घो डा



ପ୍ରଶ୍ନ ୧- ନମି୍ନରେ ଦଆିଯାଇଥିବା ଅନୁରେଦଟକୁି ପାଠ କେି ପ୍ରଶ୍ନଗୁଡକିେ ଉତ୍ତେ ଦଅି | 

ପୂବବକାଳରେ ଶ୍ଷି୍ୟମ୍ାରନ ଗୁେୁଙ୍କ ଆଶ୍ରମ୍ରେ େହ ିରବଦଉପନଷି୍ଦଆଦ ିନାନାବଧି ଶ୍ାସ୍ତ୍ର ଅଧ୍ୟୟନ  

କେଥରେ ।ଶ୍ାସ୍ତ୍ର ଅଧ୍ୟୟନ ସହତି ଆଶ୍ରମ୍ରେ ରହାମ୍ ପାଇ ଁସମ୍ିଧ ସଂଗ୍ରହ କେିବା, ଆଶ୍ରମ୍େ 

ଗାଈରଗାେୁଙୁ୍କ ରନଇ ନକିଟବତ୍ତବୀ ଜଙ୍ଗେରେ ଚୋଇବା, ଆଶ୍ରମ୍ବାସୀଙ୍କ ନମି୍ରେ ଫଳମୂ୍ଳ ସଂଗ୍ରହ 

କେିବା ଇତୟାଦ ିକାଯବୟ ମ୍ଧ୍ୟ କେୁଥିରେ । ଏହାକୁ ଗୁେୁକୁଳ ଶ୍କି୍ଷା କୁହାଯାଉଥିୋ । ଶ୍କି୍ଷା ସମ୍ାପନ 

ପରେ ଶ୍ଷି୍ୟମ୍ାରନ ଗୁେୁଙୁ୍କ ଦକି୍ଷଣା ରଦଉଥିରେ । ରସହପିେି ଏକ ଗୁେୁକୁଳରେ ଶ୍କି୍ଷା ୋଭ କେୁଥିରେ 

ଦୁଇଜଣ ଶ୍ଷି୍ୟ । ଜଣକେ ନାମ୍ ଶ୍ଶି୍େି ଓ ଅନୟ ଜଣଙ୍କ ନାମ୍ ତୁଷ୍ାେ । ଯଥାସମ୍ୟରେ 

ରସମ୍ାନଙ୍କେ ଗୁେୁକୁଳ ଶ୍କି୍ଷା ରଶ୍ଷ୍ ରହୋ । ଗୃହକୁ ପ୍ରତୟାବତ୍ତବନ କେିବା ପୂବବେୁ ଶ୍ଶି୍େି ଓ ତୁଷ୍ାେ 

 ଗୁେୁଙୁ୍କ ସାକ୍ଷାତ୍ କରେ । ଗୁେୁଦକି୍ଷଣା ରଦବା ପାଇଁ ନଜି ନଜିେ ଅଭିଳାଷ୍ ଜଣାଇରେ । ଶ୍ଷି୍ୟ 
ଦୁହିଁଙ୍କେ ନଷି୍ଠାରେ  ଗୁେୁ ଅତୟେ ସେୁଷ୍ଟ ଥିରେ । 

 

ପ୍ରଶ୍ନାବଳୀ: 

(କ) ନମି୍ନେିଖିତ ମ୍ଧ୍ୟେୁ ‘ସମ୍ିଧ’ ଅଥବ କ’ଣ? 

(ଖ) ପୂବବକାଳରେ ଶ୍ଷି୍ୟମ୍ାରନ ରକଉଁଠ ିେହ ିଅଧ୍ୟୟନ କେୁଥିରେ? 

(ଗ) ଗୁେୁକୁଳରେ ଶ୍କି୍ଷା ସମ୍ାପନ ପରେ ଶ୍ଷି୍ୟମ୍ାରନ ଗୁେୁଙୁ୍କ କ’ଣ ରଦଉଥିରେ? 

(ଘ) ବନାନ ଠକି ଥିବା ଶ୍ବ୍ଦଟକୁି ବାଛ | 

(ଙ) ଗୃହକୁ ପ୍ରତୟାବତ୍ତବନ କେିବା ପୂବବେୁ ଶ୍ଷି୍ୟ ଦୁରହଁ କାହା ସହତି ସାକ୍ଷାତ କରେ? 

 

ପ୍ରଶ୍ନ ୨- ଠକି୍ ବନାନ ରେଖା ଥିବା ଶ୍ବ୍ଦଟକୁି ବାଛ ିପାଖ ରକାଠେିରେ ରେଖ | 

(କ) ବସି୍ମୟ, ବୀଶ୍ମୟ, ବୀସ୍ମୟ, ବଷି୍ମୟ  

(ଖ) ରପାଶ୍ାକ, ରପାଷ୍ାକ, ରପାସକ, ରପାସାକ       

(ଗ) ସମୁ୍ଖ, ଶ୍ମ୍ମଖୁ, ସମ୍ମଖୁ, ଷ୍ମ୍ମଖୁ  



(ଘ) ସନୟାସୀ, ସନ୍ନ୍ୟାସ,ି ସନୟାସ,ି ସନ୍ନ୍ୟାସୀ  

(ଙ) ଅଶୁ୍, ଅଶୃ୍, ଅସୁ, ଅସୃ  

 

ପ୍ରଶ୍ନ ୩- ଗ୍ରୀଷ୍ମଋତୁ ବଷି୍ୟରେ େଚନା ରେଖ | (୮୦ ଟ ିଶ୍ବ୍ଦ ମ୍ଧ୍ୟରେ ) 

ପ୍ରଶ୍ନ ୪ – ସପ୍ରସଙ୍ଗ ସେଳାଥବ ରେଖ (୫୦ଟ ିଶ୍ବ୍ଦ ମ୍ଧ୍ୟରେ) 

 (କ) “ପୁଅ ! ଏ ରବଶ୍ରେ ତୁରମ୍ ରକରଡ ସୁନ୍ଦେ ଦଶୁି୍ଛ |” 

  

ପ୍ରଶ୍ନ ୫ - ଶ୍ବ୍ଦ ଗୁଡକୁି ବୟବହାେ କେି ବାକୟ ଗଠନ କେ | 

ହତି ………………………………………………….................. 

ପେିରଧୟ …………………………………………………………… 

ପ୍ରତୟାବତ୍ତବନ ………………………………………………………….. 

ଚମ୍ତ୍କାେ ……………………………………………………………… 

ଅଗ୍ରସେ ……………………………………………………………… 

 

MATHEMATICS 
1. Fill in the blanks 

a) The number for five million sixteen thousand two is-5016002--------------. 

b) The successor of 1 million is -----------------------. 

c) The place value of 7 in 37, 56.809 is---------------. 

d) ---------------- /1 =23, 75,100. 

      2)  Write the correct option 
a) What is the number for five crore five? 

i) 7, 00,000              ii) 7 00 050              iii) 7 00 00 005                  iv) None of these 

b) The predecessor of 100 00 000 is 

i) 1, 00, 00 001  ii) 99 99 999            iii) 99 99 990                      iv) None of these 

c) What is the Hindu Arabic number for CDI? 

i) 301                              ii) 401                        iii) 501                                  iv) 601 

d) 68960 is rounded off to the nearest 100 is 

i) 68 000                 ii) 98 000                  iii) 68 900                           iv)None of these 

 



v) What is the period of 9 in 26 900 455? 

 

Short answer type 
3) Make the smallest and greatest number and greatest number by using the digits. 
Repetition is not allowed 
a) 1, 8, 3, 0, 2, 7, 5 
b) 4,1,9,3,0,7,5 
c) 5, 1, 9, 3,8,2,4 
4) Write the standard form of these 
a) 6 ten lakhs +I lakh, + 5 ten thousand + 3 thousand 
b) 60000 + 20 + 8 
4) Round the numbers to the nearest 1000 
a)  (i) 68 932      (ii)  7 38 197 
b) (i) 92  11      (ii)  8 43 503 
5) Round the numbers to the nearest 10, 
a)  (i) 5314      (ii)  83 483 
b) (i) 81 503      (ii)  83 089 
6) Write the numbers Mark the periods with commas. 
a) Nineteen million nine 
b) Seventy two million eight hundred ninety five. 
c) Two million two thousand six hundred eleven. 
7)  Write the numbers in international place value system also write it with commas and in 
words 
a) 38000197 
b) 3555789 
c) 65643178  
d) 6543178 
9) Which number will you get by adding 1 to the greatest 5 digit number? 
Short type answer                                                                                     (Each carries 3 marks) 

Arrange the following numbers in ascending order 
 a) 14007525, 527358, 1900100, 527868  
              b) 3678941, 36782892, 3628096, 3604517 
              c)934568, 743289, 930579, 9762341 
 2. Arrange the following numbers in ascending order 
 a)86753241, 87653241, 930579, 9762341  
              b) 4526758, 4526768, 4257758, 4652758 

 

 

 

 

 

 


